The Unit Circle involves the angles in Special Right Triangles
which means it probably involves the sides too!

Finding SinB, CosB, and Tan® using the Unit Circle
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Use the given infomation to find the measure
of all the anlges 6 that meet each condition.
0 in degrees (0° < 6 < 360°)
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You will have a quiz next week over filling out the
Unit Circle!

Use the given infomation to find the measure
of all the anlges 6 that meet each condition.
0 in degrees (0° < 6 < 360°)

6. tand = —1
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. . . : this tell B is in the 2nd drant
9. Given Cosf > 0 and Sinf) = —% find 6 10. Given90° < 0 < 180° ) s tels tagis inthe 2nd Quacran
D — J3 &
In the 4th Quadrant If CosO = — find Sinfd —
Sin@ =-1/2 at 330° o 2
These two statements tell @’ = 3'5 OO IGnr:::esfg: ?;gg tr: : \\/
us that x is positive and get this value for
y is negative, therefore,

0 is in the 4th Quadrant Cos.

Now do Sin 150°

You can now finish Hwk #30 Suppose the you get on a Ferris Wheel at the

spot marked with the star. Sketch the graph of
your height above/below the spot marked with the
star as the Ferris Wheel turns.
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Practice Sheet

Heigh

Max ht.

Sec 13-2

Min ht.




